[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

MRS AR R A LN AL AR LR R LRRY LRLRY RRRR

1.0

Ratio

0.95 .
1072 107 1 10 0?
TP vertr (cr%)

Efficiend

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127
—+— DQM_TT__mkFit-DQM_mod_updatedmod-127

~n0.02r
9.018F
%)) n
3.016F
& F
9.014F
‘© C
$.012F
[J]

0.01F
0.008F
0.006F
0.004F
0.002

i

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~0.05
>
£0.045F-
£
S0.04F
9.035F
3
20.03F
k)
@.025F
[J]
0.02F
0.015F
0.01

0.005

0.95F-

0.9E

%0 —15 -10 -5

5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


